
WORKSHEET 3: SERIES
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 converges, if so, to what?

1. Determine if the following series converge or diverge.  Name the test used and the criteria of each test 
used.
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2.  Determine if the series 
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3. What is the sum of the following:
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4. (Multiple Choice) If the series 
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  is conditionally convergent, determine which of the following series 

must diverge (there may be more than one correct answer).  Justify each correct answer.
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a. Show that the series is absolutely convergent.
b. Calculate 6S , the sum of the first six terms.  Round your answer to three decimal places.
c. Find the number of terms necessary to approximate the sum  of the series with an error less than 

0.001

6. (Multiple Choice)  Choose the best answer. (Use the fourth partial sum)  
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